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:__T_he Impenal Bank of Indla, after natmndhzahon' .'was glven the name -
: J:-':l) Reserve. Bank of Indla o 2) Central Bank of India .
= ._:_3) State.Bank of Indla v '4) Punjab Natlonal Bank
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43. Match the List I and List 11

| 11
1. Spencer a. Patriarchal theory
2. Nietzsche b. Matriarchal theory
3. Morgan ~ ¢. Force theory
4. Henry Maine _ d. Organic theory
1) la, 2b, 3¢, 4d 2) l1a, 2¢, 3b, 4d - 3) 1d, 2b, 3c, 4a 4) 1d, 2¢, 3b, 4a
44, Indriyaéamyama or period of self control refers to the ashrama.
1) brahmacharya 2) grihastha 3) vanaprastha 4) sanyas
45.  ‘Administrative Behaviour’ is the book written by '
1) Dwight Waldo 2) Robert Dahl 3) Pfiffner 4) H.A. Simon
46.  Which Act provided the Public Service Commission in the Provinces (States)?
1) Govt. of India Act 1909 : 2) Govt. of India Act 1919 -
3) Govt. of India Act 1935 4) India Independence Act 1947
47.  Panchayati Raj bodies receive finance in the form of grants ﬁ'onl the
1) Central Govt. ' ‘ 2) State Govt.
3) Both Central and State Govts. 4) none of above
48.  Which of the following emotions is termed as negative emotion?
1) amusement 2) curiosity 3) fear 4) joy

49.  Sitophobia is a pathological fear for

1) drinking 2) eating 3) sleeping 4) working
50.  Attitudes are acquired in ways. |
1) direct contract 2) indirect 3) child rearing 4) both 1 and 3

51. A plant with green leaves placed in red light will appear _

1) black 2) green - 3) red ‘ 4) violet
52, A sudden fall in barometer reading indicates

1) clear weather 2) hailstorm 3) storm 4) heavy rainfall
53. A fuse wire is used to ' :

1) make the electric circuit strong

2) prevent an unduly high electric current to pass through a circuit

3) convert AC into DC '

4) convert DC into AC

N-2 ZJB-25518-A <> ~ Conud,
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54.

The element used in an electric filament is

1) copper 2) aluminium 3) iron 4) tungsten
b Under similar conditions, in which of the following gases, will the speed of sound be
. least?
1) nitrogen | 2) oxygen 3) carbon dioxide 4) sulphurdioxide
56.  Conversion of a substance directly from solid state to vapour state is known as A
1) vaporization 2) sublimation 3) decomposition 4) ionization
57. Which of the following is used for preservation of grains? '
i) Potassium permanganate 2) Boric acid
3) Sodium benzoate 4) Sodium chloride
58. .Wh.ich of the following is the hardest element?
1) cépper 2) diamond 3) iron 4) silicon
59.  Which of the following acids is found in digestive juices? .
1) Lactic acid ‘ 2) Tannic acid  3) Amino acid . 4) Hydrochloric acid
60.  Which of the following gases may cause acid rain in an industrial area? - '
1) CO, 2) CO 3) SO, 4) CHy
61.  The organisms who can synthesize their food by interécting with their environment
are called
1) heterotrophs 2) autotrophs 3) self dependent 4) consumers
62. Which of the following is an example of the possible effects of global warming?
1) grain production is likely to increase 2) sea level will rise
3) new island will appear as sea level dé:creases 4) none of these
63.  Why did the agreement reached at Rio de Janeiro Earth Summit fail to reduce
greenhouse gas emissions? 7
1) U.S. failed to meet the emission reduction it agreed to at Rio
2) Japan failed to meet the emission reduction it agreed to at Rio
3) India & China failed to meet the emission reduction they agreed to at Rio
“4) all of the above '
64. CI_imeraphs do not cdntai'n information about
1) average relative humidity 2) average high temperatures
3) average low temperatures ~ 4) average precipitation
N-2 ZJE-25518-A <8 > | Contd.
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Which of the following is not a significant greenhouse gas?

65.
1) molecular nitrogen  2) nitrous oxide 3) methane 4) carbon dioxide
66.  Fish respire through : _
1) nose 2) lungs 3) gills 4) fins
67. A cockroach has
1) three pairs of walking legs ; 2) two pairs of walking legs
3) four pairs of walking legs ~ 4) one pair of walking legs
- 68.  Which of the following is not a mammal?
1) fish 2) cow 3) goat 4) whale
69. Which tissue is responsible fbi‘ the passage of water in plants? | '
1) sclerenchyma - 2) xylem 3) phloem  4) collenchynatous cells
70.  Age of a tree can be determined by
1) counting the number of leaves . 2) counting the numbef of branches
3) measuring the size of tree 4) counting the number of rings in the stem
71. Bacteria belongs to which of the following kingdoms ? .
1) Protista 2) Animalae 3) Monera : 4) Plantae
2 The exchange of gases in mammals takés place in the ;
1) larynx 2) trachea V 3) alveoli 4) bronchi
73, From which part of plant is turmeric obtained?
1) root  2) fruit 3) seed 4) stem
74.  Flower colours are due to
1) chlorophyll 2) anthocyanins 3) phytochromes 4) melanin
75.  Which of the following constitute the two best reasons disﬁnguishing betweén living
and non-living?
1) reproduction and locomotion 2) growth and locomotion
3) respiration and excretion ) irri_labi]ity and locomotion
76. A man engaged a servant on the condition that he would pay him ¥ 90 and a turban
after the service of one year. The servant worked for 9 months and got ¥ 65 and a
turban. Find the cost of turban. :
1) %10 2) T15 3) 220 4) none of these
N-2 ZJE-25518-A ' <o> Contd.
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77. . A monkey climbs a pole 34m long. In first minute he climbs 6m and in second minute
he sliﬁs down 2m. In the third minute he again climbs 6m and in fourth minute he
slips down 2m. If he continues to do like this then find the time taken by him to reach
the top. ‘

1) 18 min. 2) 17 min. 3) 16 min. 4) 15 min,

78.  If+/3136 = 56, then what is the value of '

V31.36 +.3136 + v.003136 + v.00003136 ?
1) 17.22 2)6.22 3) 16.8 4) 8.22

79.  Inalibrary % of the books are story books, % of the remaining are reference books and

the remaining 300 are physics books. How many of these are reference books?
1) 480 2) 600 ; 3) 800 4) none of these
80. A certain number when divided by 899 gives a remainder 63. Find the remainder
when the same number is divided by 29.
1)5 2)6 : 3)7 4) 11
81.  HCF of two numbers is 101 and their sum is 1212, How many pairs (co-prime) of
such numbers are possible? .
)3 91 3)2 46
82. A reduction of 20% in the price of apples enables Sameer to purchase 16 apples more

for ¥320. Find the reduced price of 10 apples.

| 1) T40 2) 26 W33 . 4) 30
83. By selling 33m of cloth a merchant gains the selling price of 11m. Find the gain in %.
1) 33% 2) 40% 3) 50% 4) 25%

84, A sells an article at 10% profit. If he had bought it at 10% less and sold it for ¥ 60

less he would have gained 20%. Find the cost price of that article.
1) ¥2000 2) 3000 3) ?73500 4) ¥4000

85. A railway half ticket costs half the full fare. But the reserve charge on the half ticket is
the same as that on full ticket. One reserved ticket for a journey is ¥ 525 and the cost
of one fuil and half reserved tickets is ¥ 850. What is the reservation charge per
ticket? .
DESe]26 2) X200 | 3) T 145 IR 4) cannot be determined

N-2 ZJE-25518-A ; | Contd.
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86. A car travels a distance of 300 km. at a uniform speed. If the speed of the car is 5

km./hr more, it takes two hours less to cover the same distance. The original speed of

the car is

1) 60 km./hr. NS0 kmE. . -3)40Kmyhr. 4) 25 km./hr.
87. a, b, ¢, d, e and fare six consecutive odd numbers. Find their average.

1)6 2) at7 3)at5 4) cannot be determined

88.  Alinvests ¥ 1500 and B ¥ 900 in a business. A is a sleeping partner and B is working
partner. B gets 10% of total profit as salary and the remaining profit is divided in the
ratio of their capitals. If total profit is ¥ 1600, how should they divide it?

1) A:700; B:900 2) A:900; B:700 3) A:800; B:800 4) A:1000; B:600

89. A man undertakes to do a job in 150 days. He finds that only a quarter of work is done
in 50 days. How inany additional men should be-employed so that work” may be
finished in time? ‘

1) 100 men 2) 300 men 3) 80 men 4) 150 men

90. AandB éan do a work in 10 days,.B and C in 12 days,- C and A in 15 days. If B alone
works for 15 days and is then joined by A and C. In how many days the work will be
finished? ) |
1) 20 days 2) 22 days 3) 18 days 4) 16 days

91. A pipe can fill a tank in 12 hrs. and another in 15 hrs. Third pipe can empty it in 6 hrs,
If first two are kept open for 6 hrs. in the beginning and then third pipe is also opened.
In what time tank will be emptied? - . j
1) 42 hrs. 2) 54 hrs. | 3) 56 hrs. 4) 47 hrs.

92. ¥ 1500 be given at interest rate of 10% and the interest is to be added to-principal

after every 5 years. In how many years will it amount to ¥ 25007?
1) 8 years 2)7 § years 3)6 % years . 4) 7% years
93.  Find the compound interest on ¥ 12500 at 8% per annum for 9 months compounded
quarterly. :
1) 1020 2) T1428 3) 510 4) none of these
94.  The difference between the presenf age of Arun and Deepak is 14 years. Seven years
ago the ratio of their ages was 5:7 respectively. What is Deepak’s present age?

1) 56 years 2) 42 years 3) 63 years 4) 35 years

N-2 ZJE-25518-A - 4> . Contd.
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The circumference of a circular field is 440m. A circular path 10m wide ruhs around

95..
the outside of field. Find the cost of carpeting the path at the rate of 70 paise per
square metre. '
1) 22200 2) 3300 3) T4400 4) T3750

96.  The ratio of length and the breadth of a rectangular plot is 6:5 respecti\}cly. If the
breadth of the plot is 34m less than the length, what is the perimeter of the plot?
1)371Im 2) 408m 3) 748m 4) 814m

97. A father’s age is equal to the sum of ages of 5 children, In 15 years, his age will be
only half of their total age. Find the present age of father. _
1) 40 years 2) 45 years 3) 42 years 4) 48 years

98.  In a cricket match Anil took one wicket more than thrice the number of wickets taken
by Sachin. If the product of the number of wickets taken by both is 14, find the
number of wickets taken by Sachin. .
1)2 ' - 23 B)\7 4)5

99. If= g;g, b= % , then value of (a —2)” is
1) 40 2) 98 3)72 4) 60

100. In aclass of 111 students, 48 took physics, 45 took chemistry and 52 took maths. Out
of these 8 took both physics and chemistry, 11 took both chemistry and maths and 16
took physics and maths. If each student of the class took at least one of three subjects,
then how many took all the three subjects? _ :
H10 2)2 31 47

N-2 ZJE-25518-A <> Contd.
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